This is a Spitfire. In 1940 it was one of the RAF's most important fighters and
played a key role in stopping the Nazis from invading Britain in "The Battle of
Britain®. However, it is wartime so recycling is even more important than normal.
There are six rectangles of Perspex (a plastic they made the canopy from) on
this page. If the area of the rectangle matches the area of a section of the
Spitfire's canopy it can be reshaped o make it fit. Can you work out which piece
of Perspex we don't need?
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